

2.4.11

$$a) \lim_{n \rightarrow \infty} \frac{2n^2 - 3}{4n} = \lim_{n \rightarrow \infty} \frac{2n^2}{4n} = \lim_{n \rightarrow \infty} \frac{n}{2} = +\infty$$

$$b) \lim_{n \rightarrow \infty} \frac{n}{1-n} = \lim_{n \rightarrow \infty} \frac{n}{-n} = \lim_{n \rightarrow \infty} -1 = -1$$

$$c) \lim_{n \rightarrow \infty} \frac{3^n - 3^{n-1}}{2 + 3^n} = \lim_{n \rightarrow \infty} \frac{3^n (1 - 3^{-1})}{3^n (\frac{2}{3^n} + 1)} =$$

$$\lim_{n \rightarrow \infty} \frac{\frac{2}{3}}{\frac{2}{3^n} + 1} = \frac{\frac{2}{3}}{1} = \frac{2}{3}$$

$$d) \lim_{n \rightarrow \infty} (\sqrt{n^2 + n} - n) \stackrel{\text{conjugué}}{=} =$$

$$\lim_{n \rightarrow \infty} \frac{\sqrt{n^2 + n} - n}{1} \cdot \frac{\sqrt{n^2 + n} + n}{\sqrt{n^2 + n} + n} =$$

2.4.11

ZMR

d) (Suite) $\lim_{n \rightarrow \infty} (\sqrt{n^2+n} - n) =$

$$\lim_{n \rightarrow \infty} \frac{n^2+n - n^2}{\sqrt{n^2+n} + n} =$$

$$\lim_{n \rightarrow \infty} \frac{n}{n(\sqrt{1+\frac{1}{n}} + 1)} = \lim_{n \rightarrow \infty} \frac{1}{\sqrt{1+\frac{1}{n}} + 1}$$

$$= \frac{1}{2}$$

e) $\lim_{n \rightarrow \infty} \frac{n^2(n-1) + 2n + n^2 - n^3}{n-1} =$

$$\lim_{n \rightarrow \infty} \frac{\cancel{n^3} - \cancel{n^2} + 2n + \cancel{n^2} - \cancel{n^3}}{n-1} =$$

$$\lim_{n \rightarrow \infty} \frac{2n}{n-1} = \lim_{n \rightarrow \infty} \frac{2n}{n} = 2$$

2.4.11

3

$$f) \lim_{n \rightarrow \infty} \frac{1+2+\dots+n}{n^2} =$$

$$\lim_{n \rightarrow \infty} \frac{n \cdot \frac{n+1}{2}}{n^2} = \lim_{n \rightarrow \infty} \frac{1}{2} \cdot \frac{n^2+n}{n^2} =$$

$$\lim_{n \rightarrow \infty} \frac{1}{2} \cdot \frac{n^2}{n^2} = \lim_{n \rightarrow \infty} \frac{1}{2} = \frac{1}{2}$$